CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.				
I, Randy Hartmann, hereby request station time as follows:				
FEDE	RAL CANDIDATE			
IDENTIFY CANDIDATE TYPE STATE	OR LOCAL CANDIDATE			
	S MUST BE COMPLETED			
Candidate name: Randy Hartmann				
Authorized committee:				
Agency requesting time (and contact information):				
Candidate's political party:				
Office sought (no acronyms or abbreviations): Pierre School Board	,			
Date of election: June 8, 2021	General Primary			
Treasurer of candidate's authorized committee:				
Candidate				
The undersigned represents that:				
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):			
the candidate listed above who is a legally qualified candidate, or				
the authorized committee of the legally qualified candidate listed above;				
(2) this station is authorized to announce the time as paid for by such person or entity; and				
(3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion and other sales practices.				
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.				
Candidate/Committee/Agency	Station Representative			
Signature:	Signature: Jane Deis			
Name: Randy Hartmann Name: Diane Deis				
Pate of Request to Purchase Ad Time: $5(2813)$ Date of Station Agreement to Sell Time: $5(2812)$				

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. See Invoice for actual schedule and charges.				
I, <u>Dennics James</u> , hereby request station time as follows:				
.,				
FEDE	RAL CANDIDATE			
IDENTIFY CANDIDATE TYPE STATI	E OR LOCAL CANDIDATE			
ALL QUESTIONS/BLOCK	S MUST BE COMPLETED			
Candidate name: Dennis James				
Authorized committee:				
Agency requesting time (and contact information):				
N/A				
Candidate's political party:				
parameter parage.				
Office sought (no acronyms or abbreviations): Piewe School Piewe F	Soord			
Date of election: June 8, 2021	General V Primary			
Treasurer of candidate's authorized committee:				
Candidate				
The undersigned represents that:				
(1) the payment for the broadcast time requested has been fur	nished by (check one box below):			
the candidate listed above who is a legally qualified car	500) 1007 - 12			
the authorized committee of the legally qualified candi	date listed above;			
(2) this station is authorized to announce the time as paid for b	v such person or entity; and			
(3) this station has disclosed its political advertising policies, including applicable classes and rates, discount, promotion and other sales practices.				
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.				
Candidate/Committee/Agency	Station Representative			
Signature: Denne B James	Signature:			
Name: Dennis James Name: Diane Deis				
Date of Request to Purchase Ad Time: 5 20 2				

Confirmation



DRG MEDIA GROUP PO BOX 1197 PIERRE, SD 57501 605-224-8686

Contract # Date Entered 60555 05/28/2021 Diane Deis

Sales Person Billing Cycle Calendar
Revenue Source POLITICAL CANDIDATE

Conflict 1 Conflict 2 Contract

POLITICAL EDUCATION

Comment

PIERRE SCHOOL BOARD ELECTION

HARTMANN/JAMES FOR PIERRE SCHOOL BOARD

Station	Date/Time	Schedule	Len	Comment	Rate	Qty	Total
KJBI-FM	05/31/2021-06/06/2021 6:00a-7:00p	0,0,3,4,4,4,0	00:30		6.89	15	103.35
KJBI-FM	06/07/2021-06/13/2021 6:00a-7:00p	4,0,0,0,0,0,0	00:30		6.89	4	27.56
KJBI-FM	06/07/2021-06/13/2021 6:00a-1:00p	0,2,0,0,0,0,0	00:30		6.89	2	13.78
KPLO-FM	05/31/2021-06/06/2021 6:00a-7:00p	0,0,3,4,4,4,0	00:30		6.89	15	103.35
KPLO-FM	06/07/2021-06/13/2021 6:00a-7:00p	4,0,0,0,0,0,0	00:30		6.89	4	27.56
KPLO-FM	06/07/2021-06/13/2021 6:00a-1:00p	0,2,0,0,0,0,0	00:30		6.89	2	13.78
				Total			289.38

Projected Billing	Count	Gross	Net
	0	0.00	0.00

Customer _	Sales Person
Custoffier _	Sales Person

Dakota Media Group Production Order

Assigned to:		Location:		Cart #	17160
Account Name:	HARTMANN BOARD	/ JAMES PIERRE SCHOOL	Town:		
Sales Rep: D	D				
Start Date	e: 	Stop Date:			
Total Num	ber of Spots:	Length:			
Date: 5	5/28/21				
Extend	Replace	Recut with changes	Replace &	email old	spot to me
Spec —	Email to:	DIANE DEIS			
		Copy Instruc	<u>ctions</u>		
UPCOMING PI WORKED HAR BONDS TO SAN FOR EDUCATION THROUGH THI CLASS LEARNII	ERRE SCHOO D TO BUILD A /E THE DISTR DNAL STAFF P S PAST YEAR NG. WE ARE A	AND DENNIS JAMES ASKIN L BOARD ELECTION ON JUN NEW SCHOOL WITHOUT F ICT OVER ONE MILLION DO AY! WE ARE PROUD TO HAY AND APPRECIATE THE COO ASKING FOR YOUR CONTIN N JUNE 8TH. (PAID FOR BY	NE 8TH. DURI RAISING TAXE PLLARS AND H VE HELPED TH PERATION TO UED SUPPOR	NG OUR T S, WE RE IAVE BEE HE DISTRI O ACHIEVI T. PLEASE	TENURE WE HAVE FINANCED N CHAMPIONS CT BATTLE
Completed:			Date:		